Name: Date:

Teacher: Class:

Division 516

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

NO remainder.

5.

1. 2. 3. .
3)8,538 3)6,831 4)5,676 3)4,656 3)2,925

6. 7. 8. 9. 10.
2)1,966 3)4,692 3)9,945 3)7,794 3)2,577
11. 12. 13. 14. 15.
4)5,268 3)5,196 5)4,175 3)5,175 4)6,640
16. 17. 18. 19. 20.
4)3,732 2)4,332 2)6,352 3)4,236 4)2,888
21. 22. 23. 24. 25.
3)2,445 3)1,293 4)3,060 2)7,216 2)6,772
26. 27. 28. 29. 30.
4)5,908 2)2,542 3)3,276 5)6,425 5)8,175
3L 32. 33. 34. 35.

2)4,310 5)1,615 5)6,925 5)3,695 2)7,098

40.

36. 37. 38. 30.
2)4,466 5)4,790 4)6,544 3)9,330 5)7,790
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Answer Key Date:

Teacher: Class:

Division 516

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

NO remainder.

1. 2,846 2. 2,277 3. 1,419 4. 1,552 5. 975

3)8,538 3)6,831 4)5,676 3)4,656 3)2,925

6. 983 7. 1,564 8. 3,315 9. 2,598 10. 859

2)1,966 3)4,692 3)9,945 3)7,794 3)2,577

1. 1,317 122 1,732 13 835 14. 1,725 15 1,660

4)5,268 3)5,196 5)4,175 3)5,175 4)6,640

16. 933 17 2,166 18 3,1/6 19. 1,412 20 122

4)3,732 2)4,332 2)6,352 3)4,236 4)2,888

21. 815 22 431 23 765 24 3,608 5. 3,386

3)2,445 3)1,293 4)3,060 2)7,216 2)6,772

6. 1477 27 1271 28 1,092 29 1,285 30 1,635

4)5,908 2)2,542 3)3,276 5)6,425 5)8,175

3. 2,155 32 323 33 1,385 34 739 3. 3,549

2)4,310 5)1,615 5)6,925 5)3,695 2)7,098

6. 2,233 37 958 38 1,636 39 3,110 4. 1,558

2)4,466 5)4,790 4)6,544 3)9,330 5)7,790

N
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